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. - arra |REEEN gete | teTR | RETR | SeTE | KETR RELTE L TR ErTR | 1y
(m”) ) (m) (m") (m”) (t) (HR) (m”) (t) (m*) (m”)
Iy TR A 1137. 30 1119.00[ 10455.00]  4184.00 1123. 80 271. 10 4.00 86. 30 4. 58 1000. 00 52. 80

1| FARIRE 1137. 30 1119.00[  10455. 00 4184. 00 1123. 80 271. 10 4.00 86. 30 4. 58 1000. 00 52. 80
1 TSI E bR L2 1123. 80 781. 00 8295. 00 1329. 00 1123. 80 123.80 20. 00

L1 | ESHEERGSE 1123. 80

1.2 | $20.0L=1. 5m I 45 781. 00

1.3 |FifEHLE (b 12mm) 8295. 00

1.4 |APS-100 %I B3 ¥ 1329. 00

1.5  |M30RbHiESE 20. 00

1.6 |WEAiEH GEZIED 1123. 80

L7 MR xisk GEEHHD 61. 90

1.8  |MEKTE% 61. 90
2 EEVRENE LTS T4 855. 00 22. 90

2.1 |0-10mE I F-480E TF 4 741. 00

2.2 |10-20mfE R4 T & 114. 00

2.3 | ZUUKTiEH 11.45

2.4 | WkEHIEH 11. 45
3 |#EhB M LR 310. 00 2000. 00 124. 40 52. 80 4.58 1000. 00 52. 80

3.1 | NTiBRRAES 1000. 00

3.2 [HEEEITZ 52. 80

3.3 |c258NE i EE L LA 52. 80

3.4 |FEEEIFT (& 32) L=2.0m 220. 00
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. - arra |REEEN gete | teTR | RETR | SeTE | KETR RELTE L TR ErTR | 1y
(m*) ) (m) (m*) (m*) (t) () (m”) (1) (m?) (m*)

3.5 |HENAEIT (24 16) L=3.0m 90. 00
3.6 [HEAHEN 4.58
3.7 |PPS-300/BD-AZUME BT R G 2000. 00
3.8 | ZWkiskm 124. 40

4 |RiEZH LR 13.50 28. 00 2160. 00 4. 00 13.50
4.1 |5l RKH 4.00
4.2 | ¢ 32.00L=3. Om&H#T 24. 00
4.3 |2 32.00L=1. SmiN AR HT 4. 00
4.4 | & 1SmmAA 4R HIE 2 720. 00
4.5 | & 16mmANLR 1 22k 1440. 00
4.6 | NTAZERIFEDT 13.50
4.7 |C30REEL 13.50

&it 1137. 30 1119.00[ 10455.00]  4184.00 1123. 80 271. 10 4.00 86. 30 4. 58 1000. 00 52. 80
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Mk 4 i THE AL Hre #TE
18 il kKW <h 9209. 78
1768 L sy 2016 kg 584. 01
262 VR kg 1914. 22
304 A 22 K WA n’ 2500
321 B R A 3000k] n’ 2000
412 W D50 m 41. 04
1139 R, m’ 1003458. 85
1145 Y5 40mm m’ 11. 26
B-7 JHITF L4085 © 48, 3X 3. 6 t 0. 057
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b % W FLAL A& LR DiEZLiy
=== A T===
1 |AT T 46034. 51
== NT&il===
==ff ===
1| t 4.901
2 |Bk# kg 18. 32
3 |ARZAE N m” 2500
4 B kg 4
5 |PFERK R . 3000k] m” 2000
6 |HE% kg 33.07
7 10083 AL ARG Sk A 12.50
K n’ 37. 26
9 |rpdEds CIR90 S 1.56
10 |44 2916 kg 584. 01
11 |8 32 kg 3618. 92
12 Mgk kg 4
13 | kg 23. 04
14 | Hlb kg 0.58
15 |BU4K kg 64.8
16 |BLA m’ 0.50
17 |4NE @50 m 41. 04
18 |4tk kg 75. 60
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Fg % LA A& Ay st
19 iR kg 16
20 |wiAn kg 53. 68
21 [AR# n’ 4
22 |4EbEgkes 88 ~ 10 kg 59. 76
23 |HE% Gind 4
oq  |APS—100Z s GALL At Ml CHAME HEFT AL 2 300, 35

£ 71D
25 |Mezsg kg 244. 70
26 [HEF kg 538. 08
27 [&&Hik A 535. 83
28 |MITFL4N% ©48.3X3.6 t 0. 296
29 | ©20 kg 2952. 18
30 =0 kg 586. 62
31 |HEFFRHE kg 1611. 36
32 | kg 24810. 13
33 K m’ 10. 46
34 |Eseikaesi2 kg 8. 04
35 |HEEEEkeL #12 kg 66. 76
36 |C20%K TR e 1 b m’ 0. 02
RV V=V A7 oA B m’ 31. 68
38 |ITLANE ©48.3X3. 6 t 0. 057
39 [c20 MR At n’ 0.15
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TRHCER

R 4 W Hhr A o e e il e
40 [TRITFRR m 55. 38
41 [xHad0 A 0. 66
42 |Efm0 A 2.99
43 |l 4E 2 0.34
a4 SUIREELC30 2200 32. 5K HifE40mm ¥ 13,01

[/KE32. 5#:42. 5]
45 [3E8ERbHM 30 DB Rb] m’ 23.81
gliRktC25 240HC 42. 57KYE  RifF40mm
46 | [opm#emea ] [KyB42. 5#:32.51 [ m’ 54. 38
UE S/ |
47 |RISRbEM 30 [KIE32. 5#e42. 5] m’ 0.50
48 BB M 30 [KVE42. 53132, 51 [HLRb o3 3 09
Herpiih]
== klEit===
==Hl W=
1| A& FRe B 4065. 91
2 |RBRA RS =] 442,32
3[R () AKAEFEXE 6m/mind =] 14. 06
4 [RIFBFEHL =ling 106. 60
5 |HERE (PEEDEO =ling 72. 87
6 [BUIKIHLZIZ 20 kW =ling 86. 27
7 |RIE EwA TE W 101 =ling 8.01
8 [ ) KK FERE (m’/min) 6.0 =) 0.8
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TRHCER

F 4 Hfi i ip Wi i &t e
9 [WEEBEENL HOE@®) 0.40 =] 3.71
10 [WRH4 =in) 91.38
I G k& Lo’ =] 639. 82
12 |HBIEHHAE PulitHEE 5.0 t =l 218. 27
13 |l AEtE ZEE () 5 =l 10. 32
4| Gl SFEE ) 10 =] 26. 44
15 |HEREREER 4.0 t =in) 1.04
16 |#ERE HEE (L) 4.0 =in) 0.14
17 FEARIEZIRE 1.1 kW =l 23.90
18 | () Kit #EXE (n’/min) 6.0 =] 11. 64
19 [REEEBEHHLHARL 0. 40m° =N) 25. 34
20 |02J-100 ZUEfLEY =ling 279. 03
21 [RERE PRE w5 =in) 33.73
22 |MEREHRER 5.0 t =in) 2.06
23 [ZTUHHIEHL 25 kVA =L 45.8
24 |HERERER 2.0t =in) 388
25 |REREN EHEE 5.0t =l 42.30
26 |HBIEEHLARE BEEEE 8.0 t =L 6.34
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